] R R PR R RS Tl 2 B ATk EH IR B e 3

(% AN) (HAL . TH, %)

SR04 P RN 3R Y A HEPE =R

X o REA Rk bt LK ] iAnd=a (A)-(B) (C)/(B)

(A) (B) (C) X100

L. B #/ B # B B 931, 624 20. 7 966, 469 20. 1 A34,845 A3.6
2. — s = #H 4 - - - - - -
3. ff A OB R O F B - - - - - -
4, JiE * H 4 22 0.0 1,427 0.0 A1, 105 A98.5
5. I& x H 4 2,957, 006 65. 6 3,237, 796 67.3 A 280, 790 A3.7
6. JE 1% A 1 0.0 0 0.0 1 g
7. f A 4 475, 685 10. 6 513, 065 10.7 A37, 380 A7.3
8. ik fetd & 113, 627 2.5 75, 951 1.6 37,676 49.6
9. & Iz A 26,918 0.6 15,615 0.3 11,303 72. 4
% A A B 4,504, 883 100. 0 4, 810, 323 100. 0 A 305, 440 AG6.3
(% H) (AL - TH, %)

AN 4 A AN 3 A H WA BB

X 73 LK | i3 qsa LK ] Al bt (A)-(B) (C)/(B)

(A) (B) (C) X100

1. #& % # 75, 831 1.8 72,974 1.6 2,857 3.9
2. PR 55 e ¥ % 2,913, 666 67.9 3, 169, 303 69. 2 A255, 637 A3. 1
3. [E B RE £ I B B W& 1, 248, 661 29.1 1, 288, 630 28. 1 A 39, 969 A3. 1
4. & FH O OF OE WLoH & 0 0.0 0 0.0 - -
5. & 55 * ES # 39, 549 0.9 31, 450 0.7 8, 099 25.8
6. F& 4 H ST 4 1 0.0 0 0.0 1 Hhp
7. 18 15 # - - - - - -
8. B x H & 11,524 0.3 19, 339 0.4 A7, 815 A40. 4
9. T 1 # - - - - - -
7 H & 2 4, 289, 232 100. 0 4, 581, 696 100. 0 A292, 164 AG. 4




